TR i ol Jiay i dilea Balal (ha g ol TR
(i + lia) Aalf A Balall Jiad St

| \11 | ul ol
| i ‘H “ 1“““ \’\ i H\ | HM |
I ‘ [RHHY ‘HH I ’ | “’
‘\ A \' “ it ‘\
““ “” “M‘ il \
“ W

[ il
|
\\“‘ ‘I‘

/ | : “ T |
H‘ i m‘ f ‘HW H
I

m i \HFWT'M |
‘ 4)M|!~
M it
! f,”‘; I

CamScanner - Ligd d>guaall


https://seraj-uae.com/file/6552/

T i ,\
“"i‘l“‘.‘\“ M

‘e‘(%;“ HK)‘.JU;M.”.\J.:L-.. ‘_M,d;udl .

. N g
ﬁa of the followmg tempe#'atumes (in °C) is equivalent to 294 K?
N N ‘\ ‘1\“““‘3«‘

M
A
il ‘
1t |

WS

CamScanner - Ligd d>guaall


https://seraj-uae.com/file/6552/

mlwnu 'nmww«mw “‘WHMW‘“”“W«lml umwllrlnmlwwluuP "“ e 9

00000000

CamScanner - Ligd d>guaall


https://seraj-uae.com/file/6552/

B 111

CamScanner 2 Ligs &> guaall


https://seraj-uae.com/file/6552/

13,09 (897 J/kg K = e sl 5, ,all) pgial) 53ba 54 2.0
€(3.35 x 105 J) &loa &y 45 13) casall Sabal &;

=y
Aty

g i)l_ock of aluminum (specific heat = 897 J/kg'K) is at an initial tempera
K. What will its final temperature be if (3. 35 x 10° ])of thermal energy is ¢
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?ﬂ ermodynamic values for water:
1 Heat of fusion = 3.34 x 10° J/kg
Heat of vaporization = 2.26 x 10° J/kg
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tement about two objects in thermal equilibrium is true?
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The thermal energy for the two objects is equal.
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The thermal energy for the two objects are equal.
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